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33621't60t1 UUhL n tt u uln nU ur ppn I 50Jq,rrl1 250rJ1 ,l'rlrpGp q3 1200.0 360.0 300
2 33691138/'1 qunlllnqui 5% 500,0 $Lrpbp qt 280.0 280.0 1000

3 3369'1 138/2
l|lnrqnqL! 5% 250.0

FurpEp ql 280.0 420.0 1500
4 33691 13Bi3 qljnLLlnqLujh LnLbnLJp 10% 500,0 !nurPup q3 700.0 56.0 80
5 33691 1 38/4 qunLqnqh l-L LturhnLdh Btnnhqh y'p qrLl.iPEB ql 800.0 12.O 't5

6 33691814t1 th4nopuhtpht outu 60dq,/dt 500Ut nlurqdn-Sbp tlrupEp ql 4000.0 240.0 60
7 33691814/2 fhqnopuhtphl outru 100Jq/Ut 500, ntuqdn-Sbp rlrurpEp q3 5000.0 50.0 10

8 33651 139/1 tlopuh$topuughU (dopuhgtopurughlJh hhrlnnptnnhrl) LnurpEp ql 1700.0 1360.0 800
9 33661122t1 'rlLxnLugbuLUdnL 1% 100dt Lnurp0p qt 2500.0 200.0 80

10 33691112t1 UbmnnLh4urqnl sLlq-/dt, 1 00Jt $rlrpop q3 350.0 350.0 '1000

1'l 33691129t'l

UuulnhnLdh ptnnhry,qurhnLdh pLnnh4,LlurghnLdh
prnnh4 /nhLqbn/ 250dt

r-l'rrupEp qt
250.0 750.0

3000

12 33691129t2

Lru.rLnnhnL'Jh ptnnhq,qu.ihnLdh ptnnh4,l..lL!phnrJh
ptnnh4 /nhLqbn/ 500ut

LnupErd qt
250.0 625.0

2500

13 33691135/1
LuLnnhnLfh phLtLUnpnUurul 8arJq/1.1120J1

QtLul..lnL ql 1100.0 330.0
300

14 33691 1 36/2 LurrnhnLJh ptnnh4 0,9 % 1000d1 qrurpcp ql 300.0 540.0 1800
15 33691 136/3 LLu|nnhnLfh ptnnh4 gdq/Ut 500Jt lnurpup ql 250.0 2000.0 8000
16 33691136/4 Lurunhnrdh ptnnhn 0.9% 250dt QLlrpEp qf 250.0 5000.0 20000

17 33691 136/5
UlurnhnLuh pLnnh4 0.9% 1004

$r!pEp qf 250.0 1250.0 5000

18 33691136/6
LuLnnhnLdh ptnnh4 0.9% 30001.t1

rlrupEp qi 1500.0 1050.0 700
19 33691136/7 l,urLnnhnluh pLnnhrl 100dq,i 4 qrurpEp qf 600.0 60.0 100

20 33691227t1

t urLnnfrnLUh ptnnh4, 11ujfinLlJh B1npf4,
dL!qUbqhnLd,ptnnhrl, UurLnnhnLdh rugbLnuLn,
Lu.iunhnldh qUnLqnLuLn 500dy'f bJnuny' +Lupbp q3

800.0 240.0
300

33651 '1 34i 1 3 h utn n$lop u urg hl.i 2Jq-i dL 200Jt qrL!ptrp ql 550.0 1 100.0 2000
22 33621610/1 durLh mnL rf LupEp q3 800.0 2.4 3
23 33661 170/1 qnnl.trujhl.i( qpnLlullrLrfr hhnnnptnnh4) 0,5% 250rJl q'rL! pEp q3 600.0 120.0 200
24 33691 176/15 Lt!LnnhnLdh rugbLnLuut (UuLnnhnLdh ugbmLuLnh mnhh Lh urpbp ql 600.0 9.0 '15

33691 134/1 ULufinLdf plnpfl4 4% 200r.11 {rrupEp q3 450.0 4.5 10
26 3369 1 133/1 LbnunttdurL gnrn 3000fI r.IruJpop ql 1500.0 '1050.0 700
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